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Question 1

Generally, the term “free rider” refers to someone who receives benefit from an activity without

bearing any of its costs.

When someone purchases a car, for example, he or she pays consumption tax, automobile
acquisition tax, automobile weight tax, automobile tax, and gasoline tax. Money from these
taxes is used as general revenue sources, part of which are used to build, maintain and manage
roads. When someone purchases a bicycle, on the other hand, he or she only pays consumption
tax, so cyclists are seen as “riding for free.” However, when looking from a broader perspective
at society as a whole, free riders might be contributing to society and benefiting the whole in

some other way.

First, give an example of someone or something that would generally be considered a “free rider”
in today’s society. You may use the previous example of cyclists if you wish. Next, consider and
describe both the positive and negative aspects of the example. Finally, describe what this

example will be like in the future based on current societal trends.
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Question 2

Victor, a character in Eve Herold’s Beyond Human, returns to health after electing to undergo
a permanent artificial heart transplant. However, he comes to think it absurd that he should
continue to live in this way while Elaine, his wife of many years, grows old and dies “naturally.”
When his wife contracts stage 4 ovarian cancer, her doctor tells her that if she is administered
specialized nanoparticles, her cancer will be completely eradicated. However, Elaine refuses the

surgery, and three months later she dies surrounded by her children and grandchildren.

Referring to the following passage about Victor’s state of mind 100 years after his wife’s death,
write your thoughts about whether or not the purpose of technology is to make people’s lives

happier. Incorporate specific examples from your experience or research.

( Excerpt from Eve Herold @ “Beyond Human:' How Cutting-Edge Science 1s
Extending Our Lives” St. Martin's Press. 2016 )




